

PECAHAN
Tambah dan tolak pecahan

(a) $7\frac{1}{4} + \frac{1}{2} - \frac{1}{8}$
 $= 7\frac{1 \times 2}{4 \times 2} + \frac{1 \times 4}{2 \times 4} - \frac{1}{8}$
 $= 7\frac{2}{8} + \frac{4}{8} - \frac{1}{8}$
 $= 7\frac{5}{8}$

(b) $6 - 2\frac{1}{3} + \frac{2}{5}$
 $= \frac{6}{1} - \frac{7}{3} + \frac{2}{5}$
 $= \frac{6 \times 15}{1 \times 15} - \frac{7 \times 5}{3 \times 5} + \frac{2 \times 3}{5 \times 3}$
 $= \frac{90}{15} - \frac{35}{15} + \frac{6}{15}$
 $= \frac{61}{15}$
 $= 4\frac{1}{15}$

Pilih jawapan yang betul

a) $\frac{1}{5} + \frac{3}{5} - \frac{2}{5} =$

$2\frac{6}{7}$

b) $3\frac{2}{7} + \frac{4}{7} - 1 =$

$2\frac{5}{7}$

c) $2\frac{1}{4} + 1\frac{1}{2} - \frac{1}{3} =$

$3\frac{5}{12}$

d) $8\frac{2}{5} - \frac{1}{2} + 1\frac{1}{10} =$

$8\frac{7}{12}$

e) $7\frac{5}{6} + 3 - 2\frac{1}{4} =$

9